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S02112 | W% B [ D BRE) - ~ B - PR (~3%0) ] (0. 000) (0)
JEFEZ5 t20kva 3.000 H 1,918 5,754 |SH 595
S16002 | VEHEARLBLEEE vy 1 A7) V] (0. 000) (0)
, 1m3/min, ZBR AR (EF G2 4%, SR 1 H Y72 0 B 3.000 H 1,060 3,180 | sHi 1285
S16003 | A"/ A b3 [ 1A% (0. 000) (0)
TP 50, 2m3 X 1 e-4H1F)2. 2kWhk, SSFRHil4 16k G2 oh 3.000 | #tHH 721 2,163 | SH: 1325
S02111 | ¥ o — 4 — A A ~YL (0. 000) (0)
3.000 H 165 495 | S 555
S16003 | TH. [ 2 itk (0. 000) (0)
25TV, ZERF I E X G4 3.000 | A A 27 81 | SH 133%
S16003 | 7 (—fi% T3¢ 1) [SHHELHE 5 kAl ) (0. 000) (0)
25 533, AR 4 AE K 524k 3.000 | f#tHH 476 1,428 | SH 134%
S16004 | A"y /iy [/ - ~ R - Pl A (~37%) ] (0. 000) (0)
N kg (Je=51) |, (10. 45 (5F0.35), & Y 1.000 H 41,634 41,634 | SH 1375
(0)
& it 464, 821
(0)
Hi filfi 420, 736
R e A 464, 821 |0.905158
kk ok BHi— T5E %k ok
000075 | & < HhA (0.000) 13| # A
K ) 1.000 4|47 i
S02116 | & < JrHbA v (0. 000) (0
RALH, , 1.000 = 23,200 23,200 | SHL 1045
(0)
& il 23, 200
(0)
HE il 23, 200
BEF
RS LT 23,200 |1
kokk BHL— 765 skokok
000076 | & < HHhA (0.000) &) A A
PR = 1.000 &) M7= v Fii
S02116 | & < FEHHS i (0. 000) (0)
AT, 1.000 = 17,700 17,700 | S B 105%
(0)
& i 17,700
(0)
Hi filfi 17,700
BEF
R LA 17,700 |1
k% ok BH-— TTE  kkk
000077 | #5K 3R (0.000) £ #* A
i 1.000 1] %47= Y Fithh
S02115 | FATHLET (0. 000) (0)
1.000 A 66, 096 66,096 | SH 745
S02115 | £l (A) (0. 000) (0)
1.000 A 58,140 58,140 | S 675
S02115 | $:8f (B) (0. 000) (0)
3. 000 A 48,144 144,432 | S¥ 635
S02115 | & < FFFEAT (0. 000) (0)
10. 000 A 50, 796 507,960 | sH 645
S02115 | & < e+ (0. 000) (0)
10. 000 A 42, 330 423,300 | SH 655
S02115 | & < FF T (0. 000) (0)
13. 000 A 32,028 416,364 | sH 665
Y00004 | e 5 (0. 000) (0)
0.010 1,616,292 16, 163
S16002 | & =)0 vy [HER] (0. 000) 0)
, 15KW#L, 2SRRI IE xF 524k, iR 1 A 270 B 10. 000 A 8, 750 87,500 | SHi 1245
S02111 | JRAK 7 (0. 000) (0)
10. 000 H 6, 398 63,980 | SH 547
$16002 | fli5=°< B (0. 000) (0)
$HH ¢ 60.5X4. Om 2. 0ty E-Hy4vFAF, ZEFFHIHIE S, SRR 1 H Y72 0 B 10. 000 H 1,870 18,700 | S 1255

o ] 0 [ B B




BB e

7% HHA ( 19/ 19)

EEZAEE e R |
[Cdg | mdm s CRIEEJ R Cf (1 b5 |
a— K 4 B O ) k& B it & H i &
S16002 | FERVAPEE 77—t havy” VBREY - BT 2 - Hiktark] (0. 000) (0)
S RVERETEDE200A, A FR A (E A 4t iR 1 B 272 B 10. 000 H 1,010 10,100 | S H: 1265
S16002 | TH AR ek /7" [HRERRE AT ORAPRARE v77) ] (0. 000) (0)
L HAR100mm A 45FE25m, 28R Ml 1E 5 G2 ob, i 1 1 %72 0 B 10. 000 H 1,270 12,700 | S B 1275
S16004 | %8 B %6 TR [ D BRE) - ~ B K- PE R (~3%) ] (0. 000) (0)
I ERE -t vxvy VEET) , 20KVA, 3 D 9. 000 H 5,313 47,817 | SHi 1355
S16002 | 7 FHAK he—pi 7" (ko) (0. 000) (0)
L O80mm Bedk2 A PiEL20m, SRR X G2k, Silifs 1 02472 0 B 10. 000 H 1,872 18,720 | SH 13145
S16002 | VEHEAR LB fE vy b A7) V] (0. 000) (0)
, Im3/min, SRR ERFG2ob, iR 1 A 272 0 Fi 10. 000 H 1,060 10,600 | S Hi 128%
S16003 | A" M4 k3% (1A% (0. 000) (0
HEPRAR 0. 2m3 X 1l £-4H11/)2. 2kWitk, SRSl 1E 5 G4k 10.000 | fit/HH 121 7,210 | SH 1325
S02111 | 7 4 —H —AA ~Ub (0. 000) 0)
10. 000 H 165 1,650 | SHi 555
S16003 | TE[h™ 2k (0. 000) (0)
25TV, SR MM ERS G240 10.000 | it A 27 270 | SHi 1335
S16003 | A (— % T4 ) (B B ) A (0. 000) (0)
75 B3m3, AR IE kL2 4k 10.000 | fitfH 476 4,760 | SH 1345
(0)
& i , 916, 462
(0)
HE il , 916, 462
BEE
EARSHLAL ,916, 462 |1
kkk BH— 78% kkx
000078 | 5 HAER (0.000) &] # A
FE S <k 28 1.000 R Y7 b i
S02115 | FEATfL kil (0. 000) (0)
1.000 A 66, 096 66,096 | SHi 74%
S02115 | 48 (A) (0. 000) (0)
1.000 A 58, 140 58,140 | S 675
S02115 | £l (B) (0. 000) (0)
3.000 A 48,144 144,432 | SH 635
S02116 [FEAG (R ERE ) (0. 000) 0)
AR Y (77 9298 10K A, , 1.000 il 1,730 1,730 | SH 106%
(0)
& it 270, 398
(0)
Hi filfi 270, 398
BEE
Ty e AL LAl 270,398 |1
kok ok BHIi— T9H sk ok k
B20001 | BLBR BEck 1% (0. 000) 2] #x A
= 1.000 5 %7 v Bl
S02116 | Bl B BEck 54 (0. 000) (0)
Pl b A L, 1.000 X 232,900 232,900 | SHi 1075
(0)
& il 232, 900
(0)
HE fif 232,900
BEE
RS AT 232,900 |1
skk BH— 80% kokk
000080 | ZK/E &5 (0.000) [1] #x A
1.000 [=] 7= v B
S02116 | KB RkER (0. 000) (0)
HEAKERER105H, , 1.000 [A] 24,375 24,375 | SHL 108%
(0)
& it 24, 375
(0)
HE fif 24, 375
BEF
BT 24,375 |1
skkk BH— 819 kokk
000081 | 3 Itk T — # {ERL (0. 000) 2y #x A
= 1.000 =47 v B
S02116 | 3 IRttt T — 4 {EK (0. 000) (0)
1.000 =X 546, 299 546,299 | S H 1095
(0)
& &t 546, 299
(0)
Hi fili 546, 299
BEE
R P A 546,299 |1
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Bk ( 1/ 8)
EEZAR T T
[ TH4 | Edmmis TREEMKTE G 1 nEF)
a— R IR NCTIR D) k& HAL fifl # fi5 &
kkk SHL— 195 kokok
501032 | 5/ il
B 7" Vo) A CReRR)
E#0, 4. 0, 0. 2kmPA T, 1110. 45 (0. 35) m3, 1E L, FLAT m3 707 HBA A
kkok SHL— 298 kokok
501032 | 5N/l
B 7" Vo) A CReRR)
E#D, 4.0, 1. OkmPA T, 1110. 45 (F0. 35) m3, 1E L, FLAT m3 895 HA A
kkok  SHL— 3% kkok
501041 | NS T (et - HLD)
AT Ot - 5
iVt - B R, R, E XL, REha 28 (1) m3 2,250 HA - WA
kkok  SHL— 4% kk%
502013 | HE/K % Hefet il FL
95 A 5 SCAR I FL T
¢ 150mm2L T N 4,162 ARA - A
kkok  SHL— B5E kokok
502115 | A —fif it ZE
TR A R
A 26,724 HA - HA
kkok  SHL— 6% kkok
S02115 | FEBRIESEE
FERER R
A 23,052 HA - HA
kkok  SHL— 7TH kkok
S02115 | ¥im{EHE
T iE R
A 20,502 HA - HA
kkok  SHL— 8% kk %
502116 | # -\
# AR
HERVREL (REEFE+REL) ,, m3 2,528 A - HA
kkk SHL— 9% kkok
502116 | Wk i
e KB
EEER) =F LU (X7, FHIE) ¢50,, m 2,490 HA - HA
kkok SHL— 108 %ok ok
502116 | Wk i
Wk B
EEER) = F L (XTI, FIE) ¢75,, m 2,804 A - HA
kkok SHL— 115 %ok sk
502116 | #EKIE (1Z5%(0H 1)
HKIE (123550 L)
BB AV b = L8VU ¢ 50, , m 1, 366 HRA - HA
kkok  SHL— 128 % okk
502116 | #E/KIE (35%(0H 1)
HKIE (1T858 L)
THELAR Y b e = VEVU ¢ 75, , m 1,756 HA A
kkok SHL— 135 kokk
502116 | #E/KIE (13540 1)
KR (Z5%0HT)
BHELAR ) ik E =L VU ¢ 100, , m 2,091 HA A
kkok SHL— 145 %ok ok
502116 | #E/KIE (13540 1)
KR (Z5%0HT)
AV AL = L8VU ¢ 125, , m 3, 686 HEA - HA
kkk  SH— 1565 skskxk
502116 | KB ARIELAR U ik © = VT
AKIE B R Y Ak e = VT
$100X45° =LA, 1 6, 200 HA - HA
kkok SHL— 165 % k%
502116 | APk [
N
$125,, &t 45, 600 A - HA
kkok SHL— 1785 % okk
502116 | APk
N
$ 100, 18 24,700 HEA - A
kkk  SH— 185 kskx
502116 | A FAK
N
675, , it 16, 100 HA - HA
kkok SHL— 198 %ok ok
502116 | ¥k
g3
[1300%H420, #f, , 18l 5, 360 HEA - A
kkk  SH— 208 kskx
502116 | WFIRHEAKE
W IRk A
PR IEORE0mm BN VIR (87 ) m 385 HA - HA
kkk  SH— 215 skskx
502116 | MBHEARY =F LU EVHY 7 v b
EEERY ZF LBV Y o b
2T, $50,, fiE 360 A - A
kkk  SH— 225 skskx
S02116 |HBEEARY =F L EXy v T
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Hiffi —id ( 2/ 8)

EEZAR T T
[Cdg | mdm s CRIEEJ R Cf (1 b5
a— R L O D) B & HAL fifl il fii &
EEER)=F LU EXy v T
Z T, $100 &l 900 HRA - A
kskk SH— 235 koxk
S02116 | mEBEERY =F L B LR
EBERY =F L ET LR
T, §T5%90° ,, J[E3 1, 650 HBA - HA
kskk SH— 245 kxxk
S02116 | mEBEERY =F L B LR
FEERY = F L BT LR
7). $50%90° ,, J[E3 480 HBA - HA
kkk  SHL— 258 sk okk
S02116 | Hm#EARY = F LU BVUH Y &7 v b
MEERY) ZFLUBEVIRY 7y b
27N $T5,, JIE} 940 HA - A
kkk SHL— 268 % kk
S02116 | HmBERY = F LU EREY v b
MR 2 F LR ry b
Z T ). ¢ T5%50,, J[E3 390 HBA - HA
kkk SHL— 2785 % okk
502116 [DVF— &
DVF—2
¢ 50%50, , fiE 124 WA - A
kkok SHL— 285 %ok ok
502116 [DVF— &
DVF—2
¢ 75%75, , J(E3 278 A - HA
kkk SHL— 2908 sk okk
502116 [DVF— &
DVF—2R
¢ 100%100, , il 578 HA - HA
kokok SHL— 308 % okk
502116 [DVF— X
DVF—2
¢ 125%125, , {i# 1,060 HA A
kkok SHL— 315 kokk
502116 [DVREFEF— X
DVREF— X
$ 75450, , [l 228 HA - HA
kkok SHL— 328 kokk
502116 [DVEFETF— X
DVERETF— X
¢ 100%75, , [ 439 HBA - HA
kkk SHL— 338 kokk
502116 [DVEFEF— X
DVERETF— X
¢ 125%75, , {1 1,300 HA - HA
kkok SHL— 348 sk okk
S02116 |DVERY & v b
DVERY v b
$ 125%100, , [ 317 HBA - HA
kskk SH-— 355 kxxk
S02116 |DVERY & v b
DVERY r v b
¢ 100%75, , [ 217 HBA - HA
kskk SH— 365 kokk
S02116 |DVER Y /v k
DV Y v b
& 75450, , [ 132 HBA - HA
kskk SH— 375 skxxk
S02116 |DVER Y /v k
DVEFY v b
& 125475, , ] 317 A - HA
kskk SH— 385 kxxk
502116 | &% pEr
TERRBEM
BFIAF v, m3 7,500 HA A
kskk  SH— 395 kokk
S07021 | A Vififkt” =V A Ak
TR VA v s N Ak
VU, 125mm, 52 EEA)-7" £F, 4. omE, O AT m 2,229 HEA - A
kskk  SH— 405 kok ok
508041 | RYFIEZE T (N J))
RIS T (N J7)
FA4E279v477, RC-40, 10cm, RNEL 72 L, ANE, m 459 HBA A
kskk SH— 415 skokk
S10018 |WFIRHPEAKT. (il (WFIRPEKE) )
UK T CINE (KRR )
N1, WK GERAE) , -, 50mEL T, m 4 A - A
kskk SH— 425 koxk
S15004 | BEHIE IH (ki)
IS 1A D)
e nf 24 HEA - A
kskk SH— 435 kokk
S16001 | 47" }7y) [Ave=}" -7 4=t V]
807 N Tve=b -7 =1 W)
At FR, R 1R 7 0 B FRE ] 6. 464 A - WA
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W%k ( 3/ 8)
EEZAR T T
[Cdg | mdm s CRIEEJ R Cf (1 b5
a— R L O D) B & HAL fifl il fii %
kkok SHL— 445 sk okk
S18054 | kAR - fitd: T
TR - BT
BRI~ BRI~ R, 95,1, 72 L nf 1,304 HA - HA
kkok SHL— 458 %ok ok
518062 | + Ty b (v= 1) Wi S
b Ty b (- ME) Bk - s
Bk~ nf 660 A - A
kokok  SHL— 465 % k%
S19003 | k% (3% +1)
ik (IGERH)
FEAEEE (ABIAS), 12nLAN, 10kmE T, A E E, 3 LAV, ,,0.0,0.0 ton 6, 820 HA - WA
kkok  SHL— 478 %ok %k
SA0102 |SP FifiA QL —X)
SP fifid QL—X)
Eb, AN (B 1E) m3 1,005 HA - HA
kokok SHL— 485 %ok k
SA0103 |SP JEiiE v
SPPRHE Y
Eb, ERRLAS OB, -, -, m3 1,983 HEA - HA
kokok SHL— 498 %ok ok
SA0151 |SP &l
SP L IE
FE T HE nf 410. 1 HRA - A
kokok SHL— 50 sk ok ok
SA0152 | SP (L FEN
SP kA
L, L, ML, VAR R RO REE L, 2R L nf 443.7 HEA - A
kokok SHL— 1R %ok ok
SA0551 |SP =27 U — by KAl HRAE
SP @7 U — by KIEHRAE
#Eft, 50kg Lk F80kg LA F, MEL , 72 L # 3,300 HEA - WA
kokok SHL— 528 sk ok ok
SA0874 | SP i UEHEKAS
SP IE PR E
PEAE, W B OHEIR A, 50~150mm, A~ %2 m 156 A - HA
kokok SHL— 53 sk ok ok
501041 | A S HT (Rt - #15D)
NS T O - HR)
HEVEL - BRI, E &L, R 25 (1) m3 2,250 HRA - A
kokok SHL— B4R %ok ok
S02111 |Je/kR 7
JeKKR 7
A 6, 398 WA - A
kkok  SHL— B55E sk ok ok
S02111 | U A —H— AL ~YL
U= A=A YL
A 165 A - A
kkok SHL— 56 %k ok
S02111 | &M E 2L E
T U
A 2,313 A - A
kkk  SHL— B7TH % okk
S02111 | r— v 7 A ga A
=y JHRA MR
A 2,031 HEA - A
kokok SHL— 58F sk ok ok
S02111 |fE EiF=_—7F
R R—72
A 519 HEA - A
kokok SHL— 59 %ok ok
S02112 | FEENFE FERE [ D BIKE) -~ - P (~3%%) ]
P h A TS [ D IR - ~ A% - Plset Al (~37k) ]
M 2% ik20kva A 1,918 HEA - A
kkok SHL— 608 % k%
502115 | ¥ iB{FEHE
R
A 20,502 HEA - A
kkok SHL— 615 %ok ok
S02115 | ARttt EE
bR — R EEA
A 26,724 HA A
kokok SHL— 625 %ok ok
S02115 | FEBRIEIE R
FrRRIEER
A 23,052 HA - HA
kkok SHL— 635 %ok ok
502115 |Hehfi (B)
Al (B)
A 48, 144 HA - HA
kokok SHL— 6475 %ok ok
502115 | & < HFEIE
S HEAE
A 50, 796 HA - A
kokk SHL— 655 %k ok
S02115 | & < Jpt
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Hiffi —id ( 4/ 8)

EEZAR T T
[Cdg | mdm s CRIEEJ R Cf (1 b5
a— R L O D) B & HAL fifl il fii %
S <t
A 42,330 HRA - A
kkok  SHL— 667 % kk
S02115 | &< HT
S<HT
A 32,028 A - A
kkok  SHL— 678 % okk
502115 | #4l (A)
Rl (A)
A 58, 140 HRA - HA
kokok SHL— 685 % ok ok
S02115 | ¥EHET
T
A 217,642 A - A
kkok SHL— 695 %ok ok
502115 | & AT
UL
A 26,214 WA - A
kkk SHL— 705 %ok ok
S02115 | iR T
AR AR T
A 23, 868 WA - A
kkok SHL— 715 sk okk
502115 | T.
fim
A 23,562 WA - A
kkok SHL— 725 kokk
S02115 |l T
Bl T
A 22,032 HA - HA
kkok SHL— 735 kokok
S02115 | Mim{E¥E
Wil i3S
A 20, 502 HA - HA
kokok SHL— 745 sk ok ok
S02115 | EAT-Hiff
AT R
A 66, 096 HA - HA
kkk SHL— 758 sk ok ok
502116 | # +-Hi>
F A
FEMVREL FEELEFE+HRERL) ., m3 2,528 A - HA
kkk SHL— 765 %ok ok
502116 | Wk ki
Wk I
HEER) F LB (37 . ¢50) ,, m 2,228 HA A
kkok SHL— 775 sk ok ok
502116 | Wk ki
WK Y
HEER) F LB (7 G, 075) ,, m 2,494 HA A
kkok  SHL— 785 %ok ok
502116 | WFIEHEAKE
LRI eg
BORE  WEOPES0mm R VrFV A (37 V) L, m 385 A HA
kokok SHL— 798 sk ok ok
502116 |MBEARY =F L EVHY v k
EEBERY 2 F LBV Y o b
HTI . $50,, {i# 360 HA A
kokok SHL— 808 ok ok
502116 |WMBEARY =F L L Ex ¥ v 7
EBRER)FLUExYy v
2T $100,, () 900 HA - HA
kkok SHL— 818 % okk
S02116 |DVY 4 v b
DVY o b
¢ 50, , () 46 HA - A
kkok  SHL— 828 %ok ok
S02116 |DVY 4 v b
DVY 7y b
$75,, & 118 HEA - A
kkok  SHL— 838 %k okk
S02116 [DVY 4 v b
DV b
¢ 100, , L& 228 HBA A
kokok SHL— 847 %ok k
502116 [DVY 4 v b
DVY o b
$125,, 1A 453 A - HA
kokok  SHL— 858 sk ok ok
502116 | 7 N—F—1
T IN—TR— )L
EERX. ¢ 80%400, , A 14, 600 BA A
kokok  SHL— 865 %k k
502116 | 7 N—F—1
F =R — )L
R, ¢ 80%650 A 17,950 A - A
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Hiffi —f%i# ( 5/ 8)

EEZAE T s

[ TH4 | Edmmis TREEMKTE G 1 nEF)

a—F L O D) B & HAL fifl il fii %
kkok SHL— 875 %ok ok
502116 | 7 /3—AH—/L
FIN—R— )L
[ EZ, ¢ 80%800, , A 20, 150 A A
kkok SHL— 885 sk ok ok
802116 | m—F—a— vy b
n—F—a—rEy
fi# 1, 200, 000 HA - WA
kokok SHL— 895 sk ok ok
S02116 | A X EFA Y
ABETAH
fi# 2, 200, 000 HA - WA
kokok SHL— 908 %ok ok
S02116 | RY s34 F
KU AL T
A 437, 633 HA - WA
kokok SHL— 918 %ok ok
S02116 | B b3S T
ENT AVt 4
44 4%508. 0, , m 7,255 HA A
kokok SHL— 928 sk ok ok
S02116 | i
L3l
AN N 3 L 150 A A
kokok SHL— 938 %ok ok
502116 | r—v v 75
= I
SGP_200A L=5, 500mm t=5. 8mm FE&E~~ULAIT, , A 107, 900 HA - HA
kokok SHL— 945 %ok ok
S02116 | r—v v 7%
= I
SGP_200A L=1, 000mm t=5. 8mm [~/ T, , A 23, 400 A - HA
kkok  SHL— 958 sk ok ok
S02116 | r—> v 7%
= I
SGP 200A L=1, 500mm_t=5. 8mm [ ¥#BEEZE t=4. 5mm, , A 54, 800 HEA - A
kokok SHL— 965 %ok ok
S02116 | B A 7 U — % (KRR BEH TS A ~ )
BAIA 7 ) — 8 (KR E ISR 2 >~ %)
200A L=5, 500mm F#5~<~LAN T BA O 2£46%, , A 270, 000 A - HA
kkok  SHL— 978 %ok ok
502116 | BMAIA 7 ) — 4 (RBRIAHN A ~ %)
B 7 ) — 8 (IRRFE TSR 2~ %)
200A L=1, 500mm F#5~<~LAN T BA O 2£46%, , A 108, 000 A - HA
kokok SHL— 985 sk ok ok
S02116 | F AU HEME
B
HREHA  E4319  BEE5. Omm, , kg 460 A - A
kkok SHL— 998 sk ok ok
S02116 | 2> 7 U — FHIREA
2y ) — bR
, 15~5mm, m3 3,950 A - HA
kok ok SHL— 1007k ok ok
S02116 [ WilANL b T v REAL B
WiwRL N T R A b
25kgitE 4, , ton 23, 400 A - A
kok ok SHL— 1015 sk ok ok
S02116 | FEE A Y Hifk &=L 4%
PR U ik e =V
VP 850 K4 Om,, %N 1,660 HEA - A
kok ok SHL— 1025 ok ok ok
502116 [DVF— X
DVF—2
$ 50%50, , 18 124 HEA - A
kok ok SHL— 1035 sk ok ok
502116 | 4B K
JRE MBI
H630 X W930, , = 116, 000 HBA A
kok ok SHL— 104% ok ok ok
S02116 | & < FHHHA iR
& < FHBERTE
KAUH, & 23,200 A - A
kok ok SHL— 105% ok ok ok
502116 | & < FHHA iR
& < FHHERE
PR, & 17,700 A - A
kok ok SHL— 106% ok k ok
S02116 |FEAG R [EfE aCEH)
FEARGE  CRERS )
AL Y (7 7250 8D 10K A, , Fi 1,730 HA - HA
kokk  SHL— 1075 kok ok
502116 | BUSBR BTk 51
BB LU
P kA L3, EN 232,900 HEA - A
kokok SHLi— 1085 sk k%
502116 | AKEERER
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W% ( 6/ 8)
EEZAR T T
[Cdg | mdm s CRIEEJ R Cf (1 b5
a—F L O D) B & HL fifl fii &
KRR
H K E R 10 B 24,375 A - BA
kokok SHL— 1095 %ok %k
S02116 | 3 Kotk at T — & 1Rk
3 WILRFHT — ZAERL
oY 546, 299 A - A
kokok SHL— 1105 ok %k
502120 | 7 78— — L& i T
T /8= IR — LR BT H]
EER, ¢80 N 1,310 HBA - HA
kokk  SHi— 1115 kokok
S02123 | BEERFEM
HERRBER
fEfaY) )=} m3 2,820 A A
kok ok SHL— 1125 kok ok
502123 | GRSy
15Uy
n3 8, 800 WA - A
kok ok SHL— 1135 kok ok
S02123 | AtERBEM
HERRBER
BETSTGAF v m3 7,500 WA - A
kokk  SHi— 114% sk ok ok
503018 | /L Z VEL A
EAX VB DY
ewd GHE), 1:3 m3 38,317 WA - A
kk ok SHL— 115% sk ok ok
S07021 | FEH Vififkt =V A S gk
PR VAL =V N ARR
VP, 50mm, JT 2 ELEA)-7" £}, 4. om'E, 3f&i T m 1,516 HA - HA
kok ok SHi— 116% sk k%
S16001 |5 YE ke [ 179/ 4847 ]
TG IRNHEHL [}y ) 2557 ]
| RV LS. 0t W NS T5mm, WS 1 H Y72 0 B A 95, 338 HA - A
kokk  SHi— 1175 kok ok
S16002 | #Edhayn )7 [FiiER ]
L EMA AN B Ll
) B EE90kg, SRR IE KR4, K 1 B Y72 » B H 2,565 HEA - HA
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